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QUESTION 1
Different Alibaba Cloud VPCs are completely isolated from each other.

By default, the VPCs cannot communicate with each other over Intranet, but you can establish VPN connections via the
Internet to achieve interconnection between VPCs.

A. True
B. False

Correct Answer: A

QUESTION 2

When using Alibaba Cloud SLB, users can enable the health check function If a backend ECS instance A is running
abnormally, SLB will isolate it and forward the requests to other ECS instances, and when the backend ECS instance A
is back to normal, SLB will again forward requests to it.

A. True

B. False

Correct Answer: A

QUESTION 3

Alibaba Cloud Content Delivery Network (CDN) is a distributed network that is built and overlaid on the bearer network
Moreover it is composed of edge node server clusters distributed across different regions. It replaces the traditional data
transmission mode, which is centered on Web servers. When using Alibaba Cloud CDN, a user\\'s request wilt first
reach the edge node, and then receive data from the origin site by means of back-to- source Moreover, the admin can
obtain visitor\\'s real IP on the origin site. Which of the following descriptions relate to "obtaining visitors real IP" are
correct? (Number of correct

A. "Visitor\\'s real IP" is saved in "X-Forwarded-For" header in HTTP protocol. It can be directly obtained in the user-
defined LOG of Apache and Nginx.

B. "Visitor\\'s real IP" can only be obtained by modifying the application.

C. You can one-step activate the "recording visitor\\'s real IP" function in Alibaba Cloud CDN console to directly view the
visitor\\'s real IP in the access log.

D. In Windows, if IIS is used: after installing "F5XForwardedFor" extension module. \\'Visitor\\'s real IP" can then be
seen in the log.

Correct Answer: AD
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QUESTION 4

After stopping an Alibaba Cloud Elastic Compute Service (ECS) instance, since the ECS instance is stopped, you will
not be charged for anything related to that ECS instance until you start the instance again regardless of which region the
instance is located in.

A. True

B. False

Correct Answer: A

QUESTION 5
The backend server pool of an Alibaba Cloud SLB contains multiple ECS instances, which may have different service
capacities. To exploit the different service capacities of backend ECS instances, which of the following statements is

correct?

A. Choose Weighted Round Robin mode to set higher weights to ECS instances with higher capacities The higher the
weight of the backend ECS instance the higher chance that the instance will receive requests.

B. SLB cannot assign more requests to certain ECS instances.
C. Choose Round-Robin model and ECS instances with higher capacities will surely be assigned with more requests.

D. Choose Weighted Least-Connection mode, and ECS instances with higher capacities will surely be assigned with
more requests.

Correct Answer: A
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